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1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
TS 1.00] 000 ~ 459 5721 #hbiist 000 ~ 459| 1.88 9.87 ZThLLSE 1.00] 500 ~ 500 57.21| #hbist | 500 ~ 500| 1.88 9.87
9 100kN/mM#%#BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
ZThLS 1.00] 000 ~ 423 52.89] #hList | 000 ~ 423] 224 11.74 Zhus 1.00] 500 ~ 650 5289 #hbList | 500 ~ 650 224 11.74
3 100kN/mM##8Z % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
ZhLS 1.00] 000 ~ 3.77 4743 Fhkls 000 ~ 377 224 11.75 Zhus 1.00] 500 ~ 570 4743| Fhbilst | 500 ~ 570] 224 11.75
4 100kN/mM#%# 8% % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|13m%i#Bz% -~ = = =
ZThLS 1.00] 000 ~ 565 70.63| #nList | 000 ~ 565| 1.97 10.35 Zh LS 1.00] 500 ~ 700 70.63| #nbList | 500 ~ 7.00] 1.97 10.35
5 100kN/mM#%# 8% % -l -~ = -|3mZz#BzZ| - ~ - - -| 100kN/mZ# 25 = -~ = -|3m%i#Bz% -~ = = =
ZhLS 1.00/ 000 ~ 430 53.76] #hList | 000 ~ 430| 2.16 11.33 Zhus 1.00] 500 ~ 6.00 53.76] #hbList | 500 ~ 6.00] 2.16 11.33
6 100kN/mM#%#BZ % -l -~ = -|3mZzBz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
ZThLS 1.00] 000 ~ 421 52.62] #hList | 000 ~ 421] 218 11.44 Zhus 1.00] 500 ~ 6.00 5262 #hbiist | 500 ~ 6.00] 218 11.44
7 100kN/mM#%# 8% % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|13m%i#Bz% -~ = = =
Lot 1.00] 0.00 ~ 4.36 5439 ZnList | 000 ~ 436| 2.15 11.27 Zh st 1.00f 500 ~ 6.00 5439 #n iy | 500 ~ 6.00f 2.15 11.27
8 100kN/mM##BZ 5 -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S = ~ = = =
ZnLst 1.00{ 0.00 ~ 3.79 47.69] =nList 1000 ~ 3.79| 2.27 11.92 Zhn st 1.00f 500 ~ 6.00 47.69] ZnLlls | 500 ~ 6.00f 227 11.92
9 100kN/mM##BZ % -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S = ~ = = =
Zrn Lot 1.00{ 0.00 ~ 3.79 4767 =n kst 1000 ~ 3.79| 2.27 11.93 st 1.00f 500 ~ 6.00 47.67] #nblls | 500 ~ 6.00f 227 11.93
10 100kN/mM##BZ % -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S = ~ = = =
ZnLst 1.00{ 0.00 ~ 6.47 81.50| ZnList | 000 ~ 6.47| 1.94 10.18 Zh st 1.00f 500 ~ 8.30 81.50| #n Ll | 500 ~ 830 1.94 10.18
11 100kN/mM##BZ 5 -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S = ~ = = =
ZnLst 1.00{ 0.00 ~ 547 68.22| ZnList | 000 ~ 547| 1.83 9.60 Zhn st 1.00f 500 ~ 6.10 68.22| #znLis | 500 ~ 6.10f 1.83 9.60
12 100kN/mM##BZ % -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S = ~ = = =
Zhn Lot 1.00{ 0.00 ~ 477 59.50| #nList |0.00 ~ 0.00] 1.71 8.98 Zzh st 1.00f 500 ~ 5.00 59.50| #n iyt | 500 ~ 500 1.71 8.98
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